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Plot [['EcFgro’', 'EcFzExp', 'EcPltng’, 'ECdef’, 'water_ec’]]
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Plot [’ ECopt’]
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Plot Sensor and FgRec Data

f9) T9} T} o o
N N N N N
N N N N N
1
1
o I o o o o
o ! o oS oS oS
N 1 N N N Y
1
1
1
1
1
{9} Te) Te) o o
- ~ . — ~ — ~ ~ ~ .
— — — — — _—
1
1
1
1
o o o o o
o ! 0 s s s
- 1 - - - -
1
1
- 1
> m > > > >
© — © © © (3]
© | © © e) el
{9} o Tp) o o
‘ o m o o o o 8
~— — — — — i
1
1
1
1
- _ W
o W o o o o
o “ o o o o
1
1
1
1
T} n T} o o
~ ~ ~ ~ ~
\
\
\
o
ko o
o 1 ) o S o o o
— o o n % [To) * [Te) [Te) o)
> > 1 o © mn O [&) > &)
L Lo N O O I s} o o
T T G W w a o a e o
1
X
1
T T T T T T T T T T T T T T T T T T T T T T T T T T T T T T T T T T
< N o N < o o o o o - o o 1) ~ © o o o o o o o =) o o =) o ~ © 1) < ™ o~
=) o S o =) S S S S S - st © < I S o ® < =) o © < N . . . . . .
. g . . . S Ire) S o =) —_ — — et — =) o =) o o o
o o o < < ® Y I - —

22.5

20.0

17.5

15.0

12.5

10.0

7.5

5.0

day

- fw

22

20

18

16

14

12

10

54
52
50
48
46
44 4
42
40
38

day



450

400

350

300

250

200

150

30

28

26

24

22

20

18

80

70

60

50

40

30

2500

2000

1500

1000

500

2.5

2.0

1.5

1.0

0.5

1.4

1.2

1.0

0.8

0.6

0.4

Plot [['1I", "lopt’], ['T, "Topt’], ['RH', 'RHopt'], ['ETcl’, 'optETcl’], 'LAl', ’optEtRate’]
[ T — |
i Mo | V\l\f\/\AAAMﬂ
AT AN LR LAY I T
WL .
i | - ~
| ~__
Sl T
E WM\ — ol
\ A i } \/\A\WI\
L ANA S ——
[V VY A
\ | CN—
B A ——
AN A
VY
i U MAATN — o)
L M T
s N
’ A%
Al ~
i _— \ —
. N\
./ S
-/ \.
A .
\ !:[\Av/\«_/\vl\ Y
IV WAV WA T
AR |
|



Plot [['setVlI ETcl’, 'setVI fgRec', 'setVI VN, 'sl|SetVI' ]]
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Plot [['ECC:b—0’, 'FVIEC:r—o', 'ECl:g—0o']]
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Plot [['FVOEC:r-o’, 'ECO:g—o’]]
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Plot [['PHC:b—0’, 'FVIPH:r—o', 'PHl:g—0o']]
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Plot [['FVOPH:r-o’, 'PHO:g—o’]]
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Trend plot forG3-3 0
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G3-3
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G3-3_0, Day=21 (2025-06-02)

FRV (ml plant-1)

ET (ml/hr/plant)

ET (ml/hr/plant)

ET (ml/hr/plant)

L e e it i
VI, VO, FRV, ET - VI, VO, FVI, FVO, FRV, ad jFRV, ET 895 g73.932 1000
60 -
- 750
40 |
370 4 500
800
20 - 250
86 Warning: lcol ['FVI',| "FVO'] missing 95
100 3 - 68
( o v —_ ME P
75 F R = e e e e e e e e e e e e e e e e e e e e e e e e e e e e e e e e e e e e e e e == maxM 1 56
(NN
50 v A prvrayrvhiin —542
HENNE
1.0 50
4
0.8 4
0.6
0.4 4
0.2 4
Warning: lcol ["WC1',  "WC2'] missing
0.0
3250 4 tECO=1800. 0, setECB=3000.0 —  ECBx10%
[ ] ECC
3000 +———————————m R T e b B T .
°
2750 - o O » )
e © o ] 4
2500
°
°
o O o o e 9 °
optPHO=6. 5, setPHB=6.5 * * * ¢ » —¢  PHB*10%
[ ] PHC
10
8_
-------------------------- A L e it
6_
200 ~ I 4
Bylnik @22 01:35: ET=711 Fg=660.0 Ro=0 F 1500
150 A :
: - 1000
100 - - 4‘ e : 5]
50 4 : S L n - 500
|
1
@_!:’_I_L ’ a I x\ 0
20869170 1 2 3 4 5 6 7 8 9 10 11 12 13 14 15 16 17 18 19 20 21 22 23
W | 2= 25|25 25 55| 6 | B | B | B | fis | & | fis | & | fis | & | Fs | e | Fs | & | B | fe | P | R [ 1900
150 A 1
ByEt @21 19:22: ET=1053 Fg=960.0 Ro=nan I 1000
100 -
50 - 500
@_!:!  — 4 0
20869170 1 2 3 4 5 6 7 8 9 10 11 12 13 14 15 16 17 18 19 20 21 22 23
M |25 |25 |25 202525 & | B | R | B | R |G |2a|l20|208 2055 B | B (B B | g | BB [ 1900
150 A I
ByWoFl @D22 01:35: ET=932 Fg=880.0 Ro=0 1000
100 - :
|
50 : ~q L 500
|
1
10_!:’ '—’ 2 I 0
) 0 1 2 3 4 5 6 7 8 9 10 11 12 13 14 15 16 17 18 19 20 21 22 23
0sl B |BZ |52 52|57 57 57| B | B | B | B | B | B |55 |5n|5x 5% B | B (5= B | B | B
0.6
0.4 4
0.2 4
0.0
—_— 4
1500 - [ ] | _obs
—@— PPFD obs
1000 -
500 -
903 o o e v f

FRV (ml d-1)

cumET (ml/plant) cumET (ml/plant)

cumET (ml/plant)



53.

52.

52.

56.

56.

55.

55.

54.

54.

m=455, FV0=0 m=515, FV0=0 m=565, FV0=0
56 1 —o— ME | 55.5- —e— ME —o— ME
55. 0 -
55. 0 -
55 -
54.5 -
54.5 -
54 -
54.0 - 54.0 -
| 53.5 -
53 53.5 -
- ME 53.0 -
51 T T T T T T T T T T T T
600 800 1000 455 460 465 515 520 525 565 570 575
m=615,m FV0=0 m=670,m FVO=0 m=745,m FV0=0 m=825,m FV0=0
55. 5 - 55. 0
- ME - MNE - ME - ME
0 54.0 -
55. 0 - 54.5 -
5 53.5 -
' 94.5 1 54.0
53.0 -
-0 54.0 -
' 53.57 52.5
.5
93.5 1 53.0 - 52.0 -
0
53.0 - 59 5 - 51.5 -
T T T T T T T T T T T T
615 620 625 670 675 680 745 750 755 825 830 835
m=860,m FV0=0 m=895,m FV0=0 m=930,m FV0=0 m=965,m FV0=0
0- 56.0 56. 5 -
: —— ME | - MNE - ME : - ME
5 55. 5 - 56. 0 -
0 54. 5 -
55.0 1 55.5
.5 1 54.0 -
54.5 - i
0 55.0
53.5 -
5 54.0 - 54.
0 B T T T 53 0 L T T T T T T T T
860 865 870 895 900 905 930 935 940 970 975
m=1035m FV0=0 m m=455,m FV0=0 m=515,m FV0=0
5 -
46 - 46.
0 -
46 - 45.
. 44 -
45.
0 42 1 451 m
5 4 44,
40 - 44 4
04 43.
1035 1040 1045 800 455 460 465 520 525

m




m=565, FV0=0

44.5 -

44.0 -

43.5

43.0 -

42.5 -

42.0 4

—o—

M_W

565

T T
570 575

m=825,m FV0=0

42

41 -

40 -

39 -

—o—

M_W

825

T T
830 835

m=965,m FV0=0

44.0

43.5

43.0

42.5 -

42.0

41.5

—o—

M_W

965

970 975

43.

43.

42.

42.

41.

41.

43.

42.

42.

41.

41.

40.

40.

44,

44,

43.

43.

42.

42.

41.

m=615, FV0=0

—O—

M_w

615

T T
620 625

m=860,m FV0=0

——

M_W

860

T T
865 870

m=1035m FVO0=0

——

M_W

1035

1040

1045

44,

43.

43.

42.

42.

41.

41.

43.

42.

42.

41.

41.

40.

m=670, FV0=0

—— MW

670

T T
675 680

m=895,m FV0=0

—— MW

895

900 905

m=745, FV0=0

43 -

42 ~

41 A

—0—

M_w

T
745

T T
750 755

m=930,m FV0=0

43.5 A

43.0 A

42.5 A

42.0 A

41.5 A

41.0 A

—0—

M_W

T
930

935 940




100

80

60

hour

40
20

9:20
10:20
12:55
1 1 1 1

Q) I/ \2\
T




G3-3

BfE) | GEBERTIC (7)) | ERE (EAH/#K) | EREE (B/R) | X8 R

09:20 97 80.0 1.728 (% =| (Ri%@09:20 Bz (GREERSE)
10:20 97 80.0 1.728 | =| 1Ri%@10:20 Bz (kAEREEE)
12:55 97 80.0 1.728 FA| 1Bzi%@12:55 Bzh (RA{ERSE)
23| 291.0 (3%) 240.0 3 WHKEC: 3000.0, PH: 6.5

EREBRIE LTSN (0.54 vs 0.6), FIREA S MEENEBEESKERE

LOREBRTC R IR R RN (97 vs 127.0))

BRIASERRIERE61. 0 ml.

REREBIPH (10.4) 5iREPH (6.5 RERK, HL
RERSEBIPH (10.4) 5FMPH (6.5) RERKA, HH

#HEKRECE (1903.0 vs 2718.0) RS
EYGERPH (11.5) 5i8EE (6.5 REKK, FHE.
LRGERIPH (11.5) S5iRBIE (6.5) RERK, BRE,

S

=
=




G3-3_0, Day=20 (2025-06-01)

L e e e i e e o e B - 600
P VQoFRV, ET — VI, VO, FVI, EVO, FRV, adjFRV, ET
60 ~
370 2 6622— 400 -
40 - E
196 - 200 =
20 T 86 L
Warning: lcol [FVI',| "FVO’'] missing I
80— ME EEE'O
(v — ME 58
Ic 60 - FRV
s
2 40 -
E
> 20
L
1.0
U
0.8 -
0.6 -
0.4 -
0.2
Warning: lcol ["WC1',  "WC2'] missing
3008 Fo— e e e = —Fm—————F - ————F-—————f——————f-—————f——————f——————f—————] A
optEC0=1800. 0, setECB=3000. 0
2750 -
2500 - X > > X
2250 17 s EcBrion °
20004 @ ECC (] et (] ¢
°
°
optPH0=6.5, setPHB=6.5 —>—  PHB¥10% [}
104 o o o e ¢ ® PHC
8 -
6 R A I < oYy oy ey ey T _E—_—_—_—_——_—_————————————
1
. Bylnik @D22 01:35: ET=1119 Fg=1200.0 Ro=190.0 #1500 ~
£ 200 - £
s s
N 1000 =
< £
%; 100 ~ —
E L 500
o 3
0T=5T1 1 21 31 41516178 o liolii]iz]i3] @] ]i6]i7]i8]m]2o]l]2]2][2z]°
o~ NG L 55 55 FH BH A FH FH BH [A FH FH BH 55 FH 55 BH [A FH FH [H [A FA [ 1500 -
c 1 c
S 2007 ByEt @20 19:07: ET=425 Fg=360.0 Ro=nan ! s
N : L 1000 >
< 1 E
= 100 - I -
= : 500 'E
(NN [&]
1
0 22— | 0
0 | 1 2 | 3| 4] 5] 6 7] 81 9 [10] 11 [12] 131415 16] 17 ] 18] 192072 | 22]23
o~ INFR Bﬂ PR IXm|Mi| E|E|[ZE|[ZE |[Z5|25] B FH BH [A FH FH BH [A FH G EZIEFIEFS SEE
c ] c
52001 BylioFy @022 01:35: ET=322 Fg=240.0 Ro=0 s
N : L 1000 >
= , E
Sl .
— : o & —o & o F 900 e
L , o o o o o o °
1.0 - 2 4—” 2 — 0
: 0 | 1 2 | 3 | 4 6 | 7 | 8 ] 9 |10 ] 11 [ 1213 14 ] 15161 17 ] 18] 19207 21 ] 22 ] 23
0gl/NF]| FH PR IXm|Mi| E|E|[ZE|[ZE |[Z5|25] B FH BH [A FH FH BH [A FH GCHREFREFIESS
0.6 -
0.4 -
0.2
0.0
—_— 4

| _obs
PPFD_obs

RH
RH_obs
RHo _obs




m=535, FV0=0 m=585, FV0=0 m=630, FV0=0

M_E —— ME —&— ME —&— ME
96. 5 1 57.5 1 57.5
56. 0
57.0 A
57.0 A
55. 5 A
56. 5
55. 0 A 565 -
54.5 56.0 4
T T T T T T T T T T T T T T T
500 600 700 800 900 1000 535 540 545 585 590 595 630 635 640
m=750,m FV0=0 m=850,m FV0=0 m=980,m FV0=0 m
56. 8 . M_E 56. 5 1 . M_E . M_E
56. 0
56. 6
56. 0
55. 5 A
56. 4 1
55.5 -
56. 2 55.0 A
55. 0 A
56. 0 1
54.5
55. 8 54.5
T T T T T T T T T T T T T T T
750 755 760 850 855 860 980 985 990 500 600 700 800 900 1000
m=535,m FV0=0 m=585,m FV0=0 m=630,m FV0=0 m=750,m FV0=0
45.5 A
—-@— MW —-— MW 45.5 4 —-@— MW 45. 00 - —0— MW
a4 45. 0 A
45.0 - 44.75 -
44.5 1
4.5 44,50 A
43 1 44.0 - '
44. 25 A
44 0 +
43.5 44. 00 -
27 43.5
43.0 - ' 43. 75 -
T T T T T T 43.0 - T T T T T T
535 540 545 585 590 595 630 635 640 750 755 760
m:850,m FV0=0 m:980,m FV0=0 m m
45.0 + ~ MW 45.0 A . MW
44.5 - 44,5 -
44.0 - 44.0 1
43. 5 A
43. 5 A
43.0 A
43. 0 A
42.5 A
850 855 860 980 985 990



hour

8:35

10:35

13:40

100

80

60

40

20



G3-3

BrE) | GEBERTIC (B)) | EBE (EAH/#F) | EREE (B/R) | X8 R

07:20 92 80.0 1.728 FA| 1BRi%@07:20 Bzh (RAB{ERSE)
08:35 92 80.0 1.728 FA| 1BRi%@08:35 B3h (FKA{EREEE)
10:35 92 80.0 1.728 FH| 1Ri&@10:35 Bz (RAERESE)
13:40 92 80.0 1.728 |kKM| 1Ri&e13:40 B3h (RAHEREEE)
23t 368.0 (4%) 320.0 323 %KEC: 3000.0, PH: 6.5

EORGERBTC AR IR AR B E I (169 vs 123.0))

ZRIASLPRIERE110.0 ml.

REXFEBPH (10.36) S5i&%EPH (6.5) RERK, HFHRE
REXEBPH (10.36) 5FMPH (6.5) REKKA, BFHRE
HEEIRECE (2017.0 vs 3390.0) 535
ERGEBIPH (10.4) 5i8EME (6.5 RERKK, BHRE.

ERGERPH (10.4) S5iRBIE (6.5) RERK, BRE.




G3-3_0, Day=19 (2025-05-31)

R e e i e
A0 vep48RY, ET - VI, VO, FVI, FVO, FRV, ad jFRV, ET
60 - - 1000
40 A 14 935 49%80 00
a4f °
20 1 196

133 Warning: lcol [FVI',| "FVO’'] missing

FRV (ml plant-1)

0.6
0.4+

0.2 A
Warning: lcol ["WC1',  "WC2'] missing

3008 Fo— e e e = —Fm—————F - ————F-—————f——————f-—————f——————f——————f—————] A
optEC0=1800. 0, setECB=3000.0

ET (ml/hr/plant)

ET (ml/hr/plant)

ET (ml/hr/plant)

2500 -
2000 - —_— ECB*10% )H/'\( % a §
® ECC o o © . PS
1 o o N N N N -
10 4 optPHO=6.5, setPHB=6.5 —>—  PHB*10%
® PHC
8_
6_ N~ E) N N N £
1
200 - Bylni:t @Db22 01:35: ET=1420 Fg=1760.0 Ro=472.0 t
| L 2000
150 - |
:
100 7 ! L 1000
50 - :
I ¥\
010 1 2 3 4 5 6 7 8 9 [0 1T l12[1B 14161781092 2]223]°
2004 A [A A FA FA [A A FA FA [A A FA FA 55 55 [§5] 55 [A 55 [§5] FA [A A FA 2000
| A
150 4+ ByEt -@D19 19:05: ET=690 Fg=580.0 Ro=nan :
1
] 1
100 ! L 1000
501 DS S— S S S—a——

0 I E—— : 0
0 1 2 3 4 5 6 7 8 9 [ 10 ] 11 [ 1213 14 ] 15 16 | 17 [ 18 | 19 | 20 | 21 | 22 | 23
2004 A [A A FA FA [A A FA FA [A A FA BH | K|/’ |/m| B BH |v@m|/)@m|&B=| FA EIRERS 2000

: A
150 ByWoFlk/ @D22 01:35: ET=344 Fg=320.0 Ro=0
1
] 1
100 ! L 1000
50 - :
1

1.0 I—— 0
084 3] [A [A A 3] [A [A A 3] [A 3] A BB | XM |/Mm|/vH| BA BH [/m|)FM|Z=]| BA B | %=

0.6

0.4+

0.2~

0.0

—_— 4
o | _obs
—@— PPFD obs

600 -

400 -

200 -

0
T 4
25 1 o T obs
o To_obs
20 A

...

e v P

FRV (ml d-1)

cumET (ml/plant)

cumET (ml/plant)

cumET (ml/plant)



m=425, FV0=0

—o— ME
55.5
55.0
54.5
54.0
T T T T T T T T
400 500 600 700 800 425 430 435
m=615,m FV0=0 m=685,m FV0=0
56. 5 —-e— ME —o— ME
56. 5
56. 0
56. 0
55. 5 55 5
55. 0 55.0
54,5 54.5
T T T T T T
615 620 625 685 690 695
m=425,m FV0=0 m=480,m FV0=0
—— MW 42 1 —— MW
40
41
39
40
38 N 39 _
37 38
37 -
36 |
425 430 435 480 485 490
m=685,m FV0=0 m=830,m FV0=0
44.5
—— MW —— MW
43 1 44.0 -
49 - 43.5 A
43.0
41
42.5
40
685 690 695 830 835 840

m=480, FV0=0

56. 0

55.5 -

55. 0 -

54.5

——

M_E

485
m=830,n FV0=0

480

T
490

57. 25 A

57. 00

56. 75

56. 50

56. 25

56. 00

55.75

——

M_E

835
m=545,n FV0=0

830

T
840

42

41 4

40 -

39 A

——

M_Ww

545 550

555

m=545, FV0=0

56. 4

56. 2

56. 0

55. 8 A

55.6 -

55. 4 4

——

M_E

T
550

555

44 -

42

40 -

38

36

T
400

T
500

660 7(I)0
m=615,n FV0=0

T
800

43 A

42

41 -

40 -

39 -

——

M_W

615

620

625




100

8:20
80

9:35
60

E 11:30
40

13:10
20

15:35

-0
&




G3-3

BfiE) | GEBATK (7)) | ERE (BEH/f) | ERERE (B/R) | XS e

08:20 92 80.0 1.728 FA| 1B2i%@08:20 B3zh (KAB{EREEE)
09:35 92 80.0 1.728 FA| 1BRi%@09:35 B3h (KAIERESE)
11:30 92 80.0 1.728 FA| 1B2i%@11:30 B3h (kAEREE)
13:10 92 80.0 1.728 FA| 1B2i%@13:10 Bzh (RAB{ERSE)
15:35 92 80.0 1.728 FA| {Ri%@15:35 Bz (CGRAEREE)
Bit| 460.0 (5%) 400. 0 323K EC: 3000.0, PH: 6.5

ERGEBRIELL TR (0.56 vs 0.63), AIAEH L @ELESEEEESKETR R

ZRIASERRIERES0. 0 ml.

REXEBIPH (10.35) H5i&%EPH (6.5) RER KA, HFIHE
RERERIPH (10.35) 5FIPH (6.5 REKK, ERE
[E];REC 3780.0 K&, EILFAKECAE &R

# [EKECE (2067. 0 vs 3780.0) id 5
LRGEBPH (10.4) 5igEE (6.5) REKK, BHRE.
ERGEBIPH (10.4) S5iREEY (6.5) REK K, HRE.




—_

(=)

@
1

FRV (ml plant-1)

1.
0.8 A
0.6
0.4+

0.2~

3808 1

2500

2000

ET (ml/hr/plant)

80 A

60

135 695
40 A 04 9
20 A
4 Warning: lcol [FVI',| "FVO’'] missing 133

1
o
1

N
(4]
1

0

10

150 -

100 -

50 -

G3-3_0, Day=18 (2025-05-30)

VI, VO, FRV, ET - VI, VO, FVI, FVO, FRV, ad jFRV, ET 1100 1011‘80

=

Vi

~
(3]
1
T
=)
e
<
1
1
|
|
1
1
1
|
1
1
|
|
1
1
|
|
1
|
|
|
1
1
1
1
1
1
|
|
|
1
|
|
1
|
|
|
1
1
1
1
1

Warning: lcol ["WC1',  "WC2'] missing

optEC0=1800. 0, setECB=3000.0

—¢  ECB*10% o S VI VI VI IR IR
@ ECC ® o0 0 © © 0449 094y o900 o

e o o @ 6 00 g o000 00 © O

optPHO=6.5, setPHB=6.5 —>—  PHB*10%
o PHC

=

*—o—0—0

200 0 1 2 3 4 5 6 7 8 9 10 11 12 13 14 15 16 17 18 19 20 21 22 23

ET (ml/hr/plant)

ET (ml/hr/plant)

0.6

0.4+

0.2~

0.0

50 -

2001 - ® 2 g—' —— e e e
;]

150 -

100 -

80 -
60

40 ~

LA AL AL A AR AR AR AR A AR A A AR A AR A AR AN A AN AN

150 - 1

ByEt @D18 16:08: ET=865 Fg=1180.0 Ro=nan 1 ® ° ® ° ® °

100 - 1

T
()]
o
o

0 1 2 4 5 6 7 8 9 10 11 12 13 14 15 16 17 18 19 20 21 22 23

XN EZNEZS B | B [ BA [ BA [ BA [ BA [ BA | BA | BA | B | BH | PH | BH | BH [ BH [ BA [Z=E[Z= (%= B

i
ByWoFVv @D22 01:35: ET=431 Fg=400.0 Ro=0.0

H————————

T
()]
o
o

4 5 6 7 8 9 10 11 12 13 14 15 16 17 18 19 20 21 22 23

B | B [ BA [ BA [ BA [ BA [ BA | BA | BA | B | BH | PH | BH | BH [ BH [ BA [Z=E[Z= (%= B

—_—
[ ] | _obs
—@— PPFD obs

—— RH
o RH_obs
RHo_obs

31
p ® VP

hour

T
—_
o
o
o

FRV (ml d-1)

- 500

- 1500

- 1000

T
()]
o
o

1500

- 1000

1500

- 1000

cumET (ml/plant)

cumET (ml/plant)

cumET (ml/plant)



52.

52.

51.

51.

50.

50.

54.

53.

53.

52.

m=425, FV0=0
50 -
541 —@— ME —e— ME
52
48 -
50 -
48 - 46 -
46 -
14 44 -
T T T T T T T
400 600 800 1000 425 430 435
m=595,m FV0=0 m=645,m FV0=0
—e— ME —&— ME
52 527
51 51 4
50 - 50
49
49 -
48 -
T T T 48 T T T
595 600 605 645 650 655
m=750,m FV0=0 m=795,m FV0=0
5 —8— ME | 52.5- —o— ME
0- 52.0 -
51.5 -
5 -
51.0 -
0 4
50. 5 -
5 -
50. 0 -
0 -
750 755 760 795 800 805
m=900,m FV0=0 m=935,m FV0=0
54.5
0 —e— ME —e— ME
54.0 -
5 -
53.5 -
0 -
53.0 -
5 -
52.5 -

905 910

935 940 945

53.

52.

52.

51.

51.

54.

54.

53.

53.

m=480, FV0=0
- ME
50 -
48 -
46 -
480 485 490
m=690,m FV0=0
52 -

51 1

50 -

49 -

—o— ME

T

695 700
m=825,n FV0=0

—o— ME

i

850 Bé5
m=970,n FV0=0

825

-o— ME

?

970 975 980

m=530, FV0=0

52 7 —o— ME
51 4
50 4
49 1
48 1
47 4
46 -
T T T
530 535 540
m=720,m FV0=0
—o— ME
52 4
51 4
50 4
T T T
720 725 730
m=855,m FV0=0
—o— ME
53.5 -
53.0 -
52.5 -
52.0 -
51.5 -
855 860 865
m=1015n FVO0=0
54. 50 ot
54. 25
54. 00 -
53. 75 -
53. 50 -
53. 25 -
53. 00 -

1015 1020 1025



40 A

35 -

30

25 -

MW

400

T T T
600 800 1000

m=595,m FV0=0

34

32 -

30 -

28 -

26

—— MW

660 665
m=750,n FV0=0

36

34

32

30 -

—— MW

755 760
m=900,n FV0=0

750

38 -

37

36

35 A

34

-o— MW

i
i

900 905 910

m=425, FV0=0

30 A

28 A

26 -

24

22

—— MW

450 455
m=645,n FV0=0

34

32 -

30 A

28 A

—— MW

660 6%5
m=795,n FV0=0

35 A

34 -

33 -

32 -

31

30 A

—o— MW

860 865
m=935,n FV0=0

795

39 A

38 A

37 A

36

35 A

-— MW

935 940 945

m=480, FV0=0 m=530, FV0=0
36 4 —0— MW —— MW
34 -
34
2 - 32 4
30 30
28
28 -
26
26 -
T T T T T T
480 485 490 530 535 540
m=690,m FV0=0 m=720,m FV0=0
34 1 —o— MW 36 - —o— MW
32 34
30 32 1
0g - 30
T T T T T T
690 695 700 720 725 730
m=825,m FV0=0 m=855,m FV0=0
—o— MW 38 —o— MW
36
37 1
35
36 -
34
35 -
33
34 -
32
33 -
31 A T T T T T T
825 830 835 855 860 865
m=970,m FV0=0 m=1015m FVO0=0
41
40 - P —— MW
20 40 -
28 39 -
37 n 38 N
36 377
970 975 980 1015 1020 1025



